rELH (£3138)

112 d $v IS 6 o o 86 00 1 i % 800 &

[A F8H)
EENE .
Rz Ex & 1% (4853 400) HENERE
1 FER BT 349.5 50 #IT
2 JE\Ef = P S ] 334.5 40 T
3 JEVHE R o S5 4 329 40 EIT
4 ae L e 321 30 #IT
5 EIY\HEE 5 Ee 318.5 30 #7T
[ B £FiEEH]
_ RERSA
A Li|Z ey (45} 600) R
1 FEE AT SR 500 45 EIT
2 BE S E 496 35 #IT
[ CHRABENE]
_ REBRSA
FRAL BB (45 600) B HE
1 e B EIE 506.5 40 EIT
2 JEEAEE 484 30 #T
3 o] H & F2REE 480 20 BT
4 S BT 472.5 10 7T
[D H&EkHhIHE]
AL EilZ ey (4855 400) B
1 Mk ] 2 B = 335.4 30 BT
2 =V ] 331 30 BT




